Wilfrid W. Csaplar Jr., Ph.D. Economics 162 Exam #2 2015/10/2

Write your name on the cover of the test booklet and nowhere else. Enclose this sheet with the booklet.
Failure to follow these directions will cost you 1 point. The test has 100 points (to be scaled up to 160
points) and is scheduled to take 50 minutes. Therefore, expect to spend 1 minute for every 2 points. For
example, a 12-point question should take 6 minutes. I cannot give extra time because some students have
a class after your class.

1) (10 points) For EITHER providing a legal system OR income redistribution. Explain why it is an
economic reason for a government. Make sure you define it.

2) (12 points) All statistics have problems which make their interpretation less than ideal. For EITHER
the inflation rate OR GDP, explain a problem with measuring that statistic.

3) (12 points) For EITHER the event in Part A OR the event in Part B, tell me what happens to the
unemployment rate and the labor force participation rate. Explain why it has those effects and which
type of unemployment is affected and why you chose that type of unemployment.

A) A lot of coal miners have been laid off in West Virginia in the past year.

B) A stay-at-home dad decides to look for a job.

4) (14 points) Answer EITHER Part A OR Part B. Tax Bracket Tax Rate
Use the table to the right to calculate the marginal tax rate, $0 - $20,000 15%
total taxes paid, and average tax rate for a person earning

$100,000. Show all work and if there is no work, state how $20,000 - $60,000 25%
you found the answer. $60,000 - $120,000 40%
B) Explain the economic reasoning as to how increasing a tax

can bring in less revenue. Use a mathematical example to > $120,000 50%
illustrate the point you are making.

5) (16 points) Draw the supply and demand diagram for EITHER a negative externality OR a positive
externality. Use the diagram to prove we do not produce the socially optimal point. Explain your logic.
Do not worry about solving the problem.

6) (16 points) Answer EITHER Part A OR Part B.

A) Suppose at the beginning of a year, the CPI was 300. People expected 10% inflation. At the end of
the year, the CPI was 315. Calculate the inflation rate showing all work. Name two groups of people
helped by the actual inflation. Explain why you said they are helped.

B) There are two costs to high inflation which is accurately predicted. Explain how inflation causes
them.

7) (20 points) Answer EITHER Part A OR Part B.

A) What is the problem facing Social Security? What are the two long-term causes of this problem? One
of the proposals for solving it is to means test the Social Security benefits. How would that reduce the
problem? Would you use that as part of the plan to save it? Explain your logic.

B) What is the problem facing Social Security? What are the two long-term causes of this problem? One
of the proposals for solving it is to decrease the Social Security benefits. How would that reduce the
problem? Would you use that as part of the plan to save it? Explain your logic.



